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Question No : 1 of 52

Marks: 1 (Budgeted Time 1 Min) |

The operand of PUSH is called

Answer ( Please select your correct option )
R e Y e

o= -

Destination operand

. Data operand m“de b”: wuqur 5‘;‘“"‘1



The clear screen operation mitializes whole block of wideo memory to -

Answer ( Please select your correct option )

0417 VUAnswers.com
‘“ YNade by: Y/aqar Siddhe




" Which of the following IR Qs 15 connected to senal port COM 27 =

I [

Answer { Please select your correct option )

[me VUuAnswers.com
[
NEE
[me3
YNade by: YY/aqar Siddhu




Which of the following IRQs 15 connected to senal port COM 17

Anﬁﬂé’mlea your correct option )

\[mer ) VuAnswers.com
[
e
NS
YNade by: YWaqar Siddhu




" Which of the following IR Qs 15 used for sound card or network card?

|

Answer { Please select your correct option )

F

IRQ 4

IRQ 5

IRQ &

RQ 7

YNade by: YY/aqar Siddhu



|| The programmable mterval timer (PTT) has mput frequency of -

I |

Answer { Please select your correct option )

1.193MHZ VUuAnswers.com
8 YNade by: Yy/aqar Siddhe




“ By executing which of the following mstruction, the value in AX register becomes the half of prewiously stored value 7 -

1 5
Answer { Please select your correct option ) I

e ] VUAnswers.com

F

shr A3 1

NOT AX

AND A, OxFFFF

YNade by: YY/aqar Siddhu




38088 processor dimides mterrupts mto classes. -

Am select your correct option )

‘ VuAnswers.com
W -
p YNade by: YWaqgar Siddhe




H In A4FB4872 Segmentoffset pair the physical address 1s (both segment and offset are in hexadecimal):

|

Answer { Please select your correct option )

F

A4FBO

04572

A9B22

A4872

YNade by: YY/aqar Siddhu



" When the mstruction “CMP A3 B3 executes and after execution ZF 15 set, it indicates that

|

Answer { Please select your correct option )

F

A3 15 greater

B 1s greater

Both A3 and BX are equal

ZF has no relation with CIP

YNade by: YY/aqar Siddhu



Traditionally all the mathematical and logical operations are performed in i~

Answer { Please select your correct option )

ERT— VUuAnswers.com

(\

Data Segment register

— ——

—

Accumulator register /,)
'ﬁq____

SV

otack segment register

YNade by: YWaqar Siddhu




Stack 15 a data structure which behaves as -

first in last out manner 59

Answer ( Please select your correct option )

T VUuAnswers.com
C

Last in first out manner
&

All in no out manner
P

Last in last out manner
{3 2

™
YNade by: YY/aqar Siddhu




segment wraparound occurs when during the effective address calculation 15 generated. -

I |

Answer { Please select your correct option )

— VUuAnswers.com
parity
YNade by: YWaqar Siddhu




The bits of register work mndependently. If combined all these bits then they are meaningless. -

Answer { Please select your correct option )

Accumitor (A) VUANSWers.Coll
-

Instruction Pomter (IP)
-

/m\

Flag
-

Base
-

YNade by: Y4/aqar Siddhu




IBM PC has separate memory address space and peripheral address space. Memory address space 15 selected when

mstruction 15 given to the processor. -

Answer { Please select your correct option )

(\

MOV

DEC

YNade by: YWaqar Siddhu



INT 10 15 used for

SEIVICES.

A;er ( Please Select your correct option )

Y

s

BIOS wdeo

DOS wideo

Disk

YNade by: YWaqar Siddhu



are not used i mathematical operations.

Answer { Please select your correct option )

(\

Carry, Interrupt and Trap flag

_H-'-J-’_'_'_'_'_ ——\_\_\-"—h_

—

Q Direction, Interrupt and Trap

e
\\_H____

Direction, Overflow and Trap flag

Direction, Interrupt and Sign flag

YNade by: YWaqar Siddhu



VESA stands for -

Answer { Please select your correct option )

T N W0 SN S S W VUuAnswers.com

_‘_'_'_F-o—'_ _‘—ﬁq___

- -

< Video Electronics Standards Asso/cian@
(~ \h—"“‘—\——._

Video Energy Standards Assoctation

(\

Vega Energy Standards Association

YNade by: YWaqar Siddhu




In Computer Architecture, the Protected mode 15 different from

Answer { Please select your correct option )

(\

Programming mode

e —

A

not sure

Wisualization mode

Memory mode

YNade by: YWaqar Siddhu



In Assembly language programming, how many prevalent Calling Conventions do exist 7 -

Answer { Please select your correct option )

: VuAnswers.com
(D,
p YNade by: YWaqgar Siddhe




In Computer Architecture, RISC stands for

Answer { Please select your correct option )

Reversed Instruction Set Computer
-

Reversed Instruction System Computer

Reduced Instruction Set Computer

Reduced Instruction System Computer

YNade by: YWaqar Siddhu



H In Computer Architecture, CISC stands for

|

Answer { Please select your correct option )

Complex Instruction Set Computer mm
=

Complex Instruction System Computer
~

Correct Instruction Set Computer
C

Correct Instruction System Computer
2 @

o
YNade by: Y/aqar Siddhu



Which byte of the DOS mput buffer holds the number of characters actually read on return? -

Answer { Please select your correct option )

First Byte VUuAnswers.com

(\

— -

Second Byte

Third Byte

Last Byte

YNade by: YWaqar Siddhu




In multi-tasking environment, which 1s called scheduler for saving and restoning the registers? -

Answer { Please select your correct option )

— VUuAnswers.com

(\

INT 0%

— e

Sl

INT 07

YNade by: YWaqar Siddhu




|| The thread registration code itializes the PCB and adds it to the linked list. so that which wall give it a turn? ~

I [

Answer { Please select your correct option )

schuduler VUuAnswers.com
p YNade by: Yy/aqar Siddhe




In multi-tasking programming, all threads are

AWWect option )

{ Independent to each other

Dependent on each other

Mot executed

Not scheduled

YNade by: YWaqar Siddhu



"INT 10 Video - Scroll Up Window" 15 a type of wideo serwices used i which mode? -

Answer [ Please-select your correct option )

" YNade by: Yaqar Siddhe




BIOS sees the disks as

Answer { Please select your correct option )

logical storage dewvice
(\

" .
F

in the form of sectors only

in the form of tracks only

YNade by: YWaqar Siddhu



Which of the following gives more logical wiew of the storage medum 7 -

Apswer { Please select your correct option )

[ [pos VUuAnswers.com
Ny
Jr YNade by: YWaqgar Siddhe




In dewice attribute word, which of the following bit decides whether it 15 a character dewice or a block dewvice 7 -

Answer { Please select your correct option )

Bit 12 VUuAnswers.com

(\

Bit 13

Bit 14

AL

YNade by: YWaqar Siddhu




The serial port connection 18 a ==-=======mmmmmu-- connector =

Answer ( Please select your correct option )
_q-ﬂq___g\

‘gw VUAnswers.com

8 pin DB-9

3 pin DB-9

9 pin DB-5

YNade by: YWaqar Siddhu




In 9 pin DB-9, which pin number 15 assigned to TD (Transmtted Data) 7 -

Answer { Please select your correct option )

: VUAnswers.com
T
p YNade by: YWaqgar Siddhe




In 9 pin DB-9, RI (Ring Indicator) 15 assigned on pin number -

Answer { Please select your correct option )

: VUuAnswers.com
@
p YNade by: YWaqgar Siddhe




BUBBIT A GG -

Ansyer(ﬁga:se se?cty‘mn\conect option )

Q P VUuAnswers.com

32 bit processor

64 bit processor

128 bit processor

YNade by: YY/aqar Siddhu




The table index (TT) 15 set to to access the GDT (Global Descrniptor Table). =

Answer { Please select your correct option )

(\

)

YNade by: YWaqar Siddhu




In 68K processorstheretsa ........................ program counter (PC) that holds the address of currently executing mstruction. -

Answer { Please select your correct option )

3 bit VUuAnswers.com
p YNade by: YWaqgar Siddhe




In 68K processorstheretsa32bit ...................... that holds the address of currently executing instruction. -

Answer { Please-select your correct option )

Stack pointer

Register

Stack

YNade by: YWaqar Siddhu




An 8 x 16 font 15 stored bytes. -

Answer { Please select your correct option )

(\

(U YNade by: Yy/aqar Siddhe




" Which of the following mterrupts 1s Non Maskable Interrupt (NI, =

I [

Answer { Please select your correct option )

INT 2 VUAnswers.com
” YNade by: YW/aqar Siddhe




number of pin(s) of a processor 1sfare used by the external hardware to generate an mterrupt. ~

Answer ( Please select your correct option )

| VUuAnswers.com
(. YNade by: Yaqgar Siddhe




Question No : 1 of 52 Marks: 1 (Budgeted Time 1 Min) (=

After the execution of “PUSH A3 statement

Answer ( Please select your correct option ) mm

AX register will reside on the stack
@
A copy of A will go on the stack
'l
The value of A% disappear after mowing on stack
-~
otack will send an acceptance message
S
@
YNade by: YY/aqar Siddhe




Question No : 2 of 52 Marks: 1 (Budgeted Time 1 Min) (=

Which of the following IR Qs 15 connected to senal port COM 17

Answer (| Please select your correct option ) mm

RQ 4

RQ 5

RQ 6

RQ 7

YNade by: YY/aqar Siddhe




Question No : 3 of 52 Marks: 1 (Budgeted Time 1 Min) (=

An End of Interrupt (EOT) signal 1s sent by -

Answer { Please select your correct option ) mm

Handler

Processor

IRQ

PIC

YNade by: YY/aqar Siddhe




Question No : 4 of 52 Marks: 1 (Budgeted Time 1 Min) (=

The programmable mterval timer (PTT) has mnput frequency of

Answer (| Please select your correct option )

1.193MHZ
I3

2.193MHZ

3. 193MHZ

4.193MHZ

YNade by: YY/aqar Siddhe




Question No : 5 of 52 Marks: 1 (Budgeted Time 1 Min) (=

Which of the following mnterrupt i1s of highest prionty interrupt?

Answer (| Please select your correct option ) mm

Key board mterrupt

C

Timer mterrupt

INT 2

INT 3

YNade by: YY/aqar Siddhe




Question No : 6 of 52 Marks: 1 (Budgeted Time 1 Min) (=

The actual physical address represented by the segment-offset par “AB01T.FFFE” will be:

Answer (| Please select your correct option ) mm

1ABOO

C

001AB

BEOOF

FOOBE

YNade by: YY/aqar Siddhe




Marks: 1 (Budgeted Time 1 Min) (=

Question No : 7 of 52
suppose DH contains 10001010 and CL contains 3, what 1s the value of DH after the following instruction: =
SHL DH, CL.
v

Answer (| Please select your correct option )

01010000
©®
10001010
,
00010100
)
01010111
C
YNade by: Yy/aqar Siddhy




Question No : 8 of 52 Marks: 1 (Budgeted Time 1 Min) (=

When two devices in the system want to use the same IRQ line then what will happen?

Answer (| Please select your correct option ) mm

An TROQ Collision
@
An JRQ Conflict
)
An IRQ Crash
-~
An IRQ Blockage
S
YNade by: Yy/aqar Siddhy




Question No : 9 of 52

Marks: 1 (Budgeted Time 1 Min) (=

After the execution of STOSW, the C3{ will be

Answer (| Please select your correct option )

Decremented by 1
©

Decremented by 2

Incremented by 1

Incremented by 2

YNade by: YY/aqar Siddhe




Question No : 10 of 52 Marks: 1 (Budgeted Time 1 Min) (=

Which of the following 1s true 7

Answer (| Please select your correct option ) mm

In general the memory cell cannot be wider than data bus

Control bus 15 unidirectional

MMemory can use the address bus to refer to certain register in processor

There 15 no relation between memory and data bus

YNade by: YY/aqar Siddhe




Question No : 11 of 52 Marks: 1 (Budgeted Time 1 Min) (=

Traditionally all the mathematical and logical operations are performed in

Answer (| Please select your correct option ) mm

Code Segment register

C

Data Segment register

Accumulator register

otack segment register

YNade by: YY/aqar Siddhe




Question No : 12 of 52

Marks: 1 (Budgeted Time 1 Min) (=

Relating to the stack m 8088 architecture which of the following statement is true 7

Answer (| Please select your correct option )

C

oingle word can not be pushed on the stack

single word can not be popped from the stack

Single byte can not be popped from the stack

single quad can be popped from the stack

YNade by: YY/aqar Siddhe




Question No : 13 of 52 Marks: 1 (Budgeted Time 1 Min) (=

The second byte of the word designated for one screen location holds

Answer (| Please select your correct option ) mm

The ditnensions of the screen
@
Character posttion on the screen
-~
Character color on the screen
&
ASCII code of the character
(“
[
YNade by: YY/aqar Siddhe




Question No : 14 of 52

Marks: 1 (Budgeted Time 1 Min) (=

INT 10 15 used for SEIVICES.

Answer (| Please select your correct option )

BIOS wdeo

DOS wideo

Disk

YNade by: YY/aqar Siddhe




Question No : 15 of 52 Marks: 1 (Budgeted Time 1 Min) (=

In graphics mode a location in video memory corresponds to a on the screen.

Answer (| Please select your correct option ) mm

line

C

dot

circle

rectangle

YNade by: YY/aqar Siddhe




Question No : 16 of 52 Marks: 1 (Budgeted Time 1 Min) (=

The value of AH register in the write Graphics pixel service 1s

Answer (| Please select your correct option ) mm

0Ch

OBh

1Ch

2Ch

YNade by: YY/aqar Siddhe




Question No : 17 of 52 Marks: 1 (Budgeted Time 1 Min) (=

The space where the current state of a task 1s stored 1s called

Answer (| Please select your correct option ) mm

control block

C

Process control block

stack

hard disk

YNade by: YY/aqar Siddhe




Question No : 18 of 52 Marks: 1 (Budgeted Time 1 Min) (=

INT 21 serwice 01H 1s used to read character from standard mput with echo. It returns the result i register.

Answer (| Please select your correct option ) mm

al

bl

cl

bh

YNade by: YY/aqar Siddhe




Question No : 19 of 52

Marks: 1 (Budgeted Time 1 Min) (=

VESA VBE 2.0 15 a standard for

Answer (| Please select your correct option )

Ultra resolution mode
@

High resolution mode

Medum resolution mode

Low resolution mode

YNade by: YY/aqar Siddhe




Question No : 20 of 52

Marks: 1 (Budgeted Time 1 Min) (=

WVESA stands for

Answer (| Please select your correct option )

Vanable Electronics Standards Association
@

Video Electronics Standards Assoctation

Video Energy Standards Association

Vega Energy Standards Association

YNade by: YY/aqar Siddhe




Question No : 21 of 52 Marks: 1 (Budgeted Time 1 Min) (=

VBE stands for , as proposed by VESA (an organization).

Answer (| Please select your correct option ) mm

Video BIOS Extensions

Video BIOS Emergence

Video Binary Extensions

Wideo Blocked Estensions

YNade by: YY/aqar Siddhe




Question No : 22 of 52 Marks: 1 (Budgeted Time 1 Min) (=

IDTR 15 a register.

Answer (| Please select your correct option ) mm

16 bt

C

20 bit

32 bit

48 bit

YNade by: YY/aqar Siddhe




Question No : 23 of 52 Marks: 1 (Budgeted Time 1 Min) (=

In Computer Architecture, the Protected mode 15 different from

Answer (| Please select your correct option ) mm

Programming mode

C

Real time mode

Visualization mode

MMemory mode

YNade by: YY/aqar Siddhe




Question No : 24 of 52 Marks: 1 (Budgeted Time 1 Min) (=

Which byte of the DOS mput buffer holds the number of characters actually read on return?

Answer (| Please select your correct option ) mm

First Byte

C

second Byte

Third Byte

Last Byte

YNade by: YY/aqar Siddhe




Question No : 25 of 52 Marks: 1 (Budgeted Time 1 Min) (=

What 15 the size of a Sector of a standard 1.44MB Floppy disk having 80 tracks and 18 Sectorsitrack?

Answer (| Please select your correct option ) mm

128 Bytes

C

256 Bytes

512 Bytes

1024 Bytes

YNade by: YY/aqar Siddhe




Question No : 26 of 52 Marks: 1 (Budgeted Time 1 Min) (=

In multi-tasking environment, which 1s called scheduler for sawng and restoring the registers?

Answer (| Please select your correct option ) mm

INT 10

C

INT 09

INT 08

INT 07

YNade by: YY/aqar Siddhe




Question No : 27 of 52 Marks: 1 (Budgeted Time 1 Min) (=

Threads can have function calls, parameters and which type of vanables?

Answer (| Please select your correct option ) mm

: YNade by: Yy/aqar Siddhy




Question No : 28 of 52 Marks: 1 (Budgeted Time 1 Min) (=

Technically TAPXEE stands for © Advanced Processor Extensions 88.7

Answer (| Please select your correct option ) mm

Intel

Integrated

Intra

Internal

YNade by: YY/aqar Siddhe




Question No : 29 of 52

Marks: 1 (Budgeted Time 1 Min) (=

In Left-Shift-Operation, the left most bit

Answer (| Please select your correct option )

will be dropped
@

will go nto CF

will be moved to the right-most position

will always be 1

YNade by: YY/aqar Siddhe




Question No : 30 of 52 Marks: 1 (Budgeted Time 1 Min) (=

The senial port connection 15 a —------===-===---- connector

Answer (| Please select your correct option ) mm

9 pin DB-9

8 pin DB-9

3 pin DB-9

9 pin DB-5

YNade by: YY/aqar Siddhe




Question No : 31 of 52 Marks: 1 (Budgeted Time 1 Min) (=

In 9 pin DB-9, which pin number 1s assigned to CTS (Clear To Send) 7

Answer (| Please select your correct option ) mm

6

C

YNade by: YY/aqar Siddhe




Question No : 32 of 52 Marks: 1 (Budgeted Time 1 Min) (=

In 9 pin DB-9, which pin number 1s assigned to CD (Carrier Detect) 7

Answer (| Please select your correct option ) mm

1

YNade by: YY/aqar Siddhe




Question No : 33 of 52 Marks: 1 (Budgeted Time 1 Min) (=

Which of the following BIOS INT prowdes serial port services

Answer (| Please select your correct option ) mm

INT14

INT 11

INT12

INT13

YNade by: YY/aqar Siddhe




Question No : 34 of 52

Marks: 1 (Budgeted Time 1 Min) (=

BB s

Answer (| Please select your correct option )

16 bit processor
&

32 bit processor

64 bit processor

128 bit processor

YNade by: YY/aqar Siddhe



Question No : 35 of 52 Marks: 1 (Budgeted Time 1 Min) (=

A 32 bit address register can accessup to ... of memory, so memory access has mcreased a lot.

Answer (| Please select your correct option ) mm

2GB

C

4GB

6GE

8GB

YNade by: YY/aqar Siddhe




Question No : 36 of 52 Marks: 1 (Budgeted Time 1 Min) (=

The table index (TT) 15 set to to access the GDT (Global Descrniptor Table).

Answer (| Please select your correct option ) mm

1

C

YNade by: YY/aqar Siddhe




Question No : 37 of 52 Marks: 1 (Budgeted Time 1 Min) (=

In 68K processorstheretsa ........................ program counter (PC) that holds the address of currently executing mstruction.

Answer (| Please select your correct option ) mm

8 bit

C

16 bit

32 bit

64 bit

YNade by: YY/aqar Siddhe




Question No : 38 of 52 Marks: 1 (Budgeted Time 1 Min) (=

In 68K processorstheretsa 32 bit ...................... that holds the address of currently executing mstruction.

Answer (| Please select your correct option ) mm

Program counter

Stack pointer

Register

Stack

YNade by: YY/aqar Siddhe




Question No : 39 of 52

Marks: 1 (Budgeted Time 1 Min) (=

Programmable Interrupt Controller (PIC) has

Answer (| Please select your correct option )

One mput signals and eight output signals
@
One mput signal and one output signal
-~
Eight input signals and one output signals
=4
Eight mnput signals and eight output signals
S
@
YNade by: YY/aqar Siddhe




Question No : 40 of 52 Marks: 1 (Budgeted Time 1 Min) (=

Which of the follownng mterrupt is used in debugging with the help of trap flag?

Answer (| Please select your correct option ) mm

INT O

C

INT 1

INT 2

INT 3

YNade by: YY/aqar Siddhe




Question No : 1 of 52 Marks: 1 (Budgeted Time 1 Min)  :

In an mdirect addressing mode the address of memory cell

out correct option ) VuAnswers.com

Answer
“ s

1s placed in a register
e

is directly accessed by mnstruction

o[ YNade by: Yy/aqar Siddhe




In an mndirect addressing mode the address of memory cell -

Answer ( Please select your correct option )
1s placed in a register mnswersm
(ﬁ
1s directly accessed by mstruction
r
15 constant
p
15 vaniable
e L)
o
YNade by: Y/aqgar Siddhe




In STOSE mstruction, when DF 1s clear, ST 1s

Answer I ™'=— " “tyour correct option )

Incremented by 1
¢ o

s e M —

g Incremented by 2

Decremented by 1

Decremented by 2

YNade by: Yy aqar Siddhe



IBM AT has how many PICs (Programmable interrupt controller) =

Answer { Please select your correct option )

1 VUAnswers.com
>
p YNade by: Y/aqgar Siddhe




Processor informs the memory that it wants to read data, using : -

Answer ( Please select your correct option )

.

P ——
r— VUAnswers.com

Data bus

,fﬁ\
(==

It informs without using any bus

YNade by: Yy aqar Siddhe




Memory cell width refers to i-

Answer ( Please select your correct option )

T —— VUAnswers.com
£

v

et L —

— ——

<E'he meazamum value that can be stored ih a cell mc@
g \\‘___

The maximum value that can be stored in a cell excluding sign-bit

Address of that cell

YNade by: Yy aqar Siddhe




In MUL mstruction if the source operand is a byte then it 13 multiplied by register -

Answer { Please select your correct option )

A VuAnswers.com
=)
p YNade by: Y/aqgar Siddhe




In the word designated for one screen location, the higher address contains

Answer { Please seteetyour correct option )

P

/The :

character code
\-\“-\-\.\_

1

"?['he attribute byte )<

The parameters

The dimensions

YNade by: Yy aqar Siddhe



"mov [bx], ax" moves the two bytes contents of the A7 register to the address contained m BX register i the current -

Answer ( Please select your correct option )

R —— VUAnswers.com

gassl T Seew

-

.. Code segment /

(\

——
L

p
fﬁ_‘-—————h\x
( Data segment
c i, 8
Extra segment
(ﬁ

YNade by: Yy aqar Siddhe




CALL mstruction transfer the control

e

Answer ( Please selectyour correct option )
Pesmancaty VUAnswers.com
3 A

——

{/Temp orarily w

& .\_,///

Permanently when CALL 1s NEAR

Permanently when CALL 15 FAR

YNade by: Yy aqar Siddhe



A 32 bit processor has an accumulator of =

Answer { Please select your correct option )

s VUAnswers.com

(\

16 bits

f"ﬁ-‘\\

64 bits

YNade by: Yy aqar Siddhu




The parallel port connector is called =

Anyé; { Pleashglect your correct option )

DB-25 VUAnswers.com
D, -
" YNade by: Yy/agar Siddhe




The Single step mterrupt 15

Answer ( Please select your correct option )

Hardware interript
(\

fﬁ‘\\

i

\._\x_q-

< Like dinde by 1 interrupt
Cop———

2

Like divide by 2 mterrupt

%

YNade by: Yy aqar Siddhe



are not used i mathematical operations.

Answer { Please select your correct option )

(\

Carry, Interrupt and Trap flag

«

Direction, Interrupt and Trap HD
"\-\_\_._h_

Direction, Overflow and Trap flag

Direction, Interrupt and Sign flag

YNade by: Yy aqar Siddhu



In graphics mode a location in video memory corresponds to a on the screen. -

Answer { Please select your correct option )

fne VuAnswers.com
rectangle
p YNade by: Y/aqgar Siddhe




In DOS mput buffer, the number of characters actually read on retumn 1s stored in byte. -

Answer { Please select your correct option )

third VUAnswers.com

(\

fourth

first

e e

~ -
4

F( second
J YNade by: Y4/aqar Siddhe




VESA VBE 2.0 15 a standard for

Answer { Please select your correct option )

Ultra resolution mode
(\

— —

High resolution mode

Medum resolution mode

Low resolution mode

YNade by: Yy aqar Siddhu



VBE stands for , as proposed by VESA (an organization). -

Answer {-Ptease setectyour correct option )

([Video B10S Extensions VUAnsSwers.com

p

Video BIOS Emergence

Video Bmary Extensions

Video Blocked Extensions

YNade by: Yy aqar Siddhu




IDTR 1s a register. =

Answer { Please select your correct option )

== VUAnswers.com

(\

20 bit

32 bit

L
]

YNade by: Yy aqar Siddhu




In Computer Architecture, the Protected mode 15 different from -

Answer { Please select your correct option )

Y VUuAnswers.com
-
Real time mode
3
Visualization mode
.
Memory mode
5
D
YNade by: Yy/aqar Siddhe




In Assembly language programming, how many prevalent Calling Conventions do exist 7

Answer { Please select your correct option )

p YNade by: Y/aqgar Siddhe




In NASM, an imported symbol 15 declared with the

while and exported symbol 1s declared with the

Answer { Please select your correct option )

Global directive, External directive
(\

— ——

—

Esxternal directive, Global directi/vi)
o i =

Home Directive, Foreign Directive

Foreign Directive, Home Directive

YNade by: Yy aqar Siddhu



In Computer Architecture, RISC stands for i-

Answer { Please select your correct option )

S S TS VUAnswers.com

(\

Reversed Instruction System Computer

R ey N D

e

g Reduced Instruction Set CCfu’teQ
“-h-qﬁ_____

Reduced Instruction System Computer

YNade by: Yy aqar Siddhu




In Computer Architecture, CISC stands for i-

Answer ( Please ect option )
P
Qnrﬂe\xinitmction Set Colmfitil) mwm

i

&

Complex Instruction Systemn Computer

Correct Instruction Set Computer

Correct Instruction System Computer

| YNade by: YYaqgar Siddhu




Threads can have function calls, parameters and which type of vanables? =

Answer { Please select your correct option )

global VUAnswers.com
o= )
" YNade by: Y/aqar Siddhe




"INT 10 Video - Scroll Up Window" 15 a type of wideo serwvices used i which mode? -

Answer { Please select your correct option )

— VUAnswers.com

oG O
< Graphics
-

Text

Audio

YNade by: Yy aqar Siddhu




The first possible segment base value 1s . =

Answer ( Please select your correct option )

000 VUAnswers.com
p<¥) :
" YNade by: Yaqar Siddhe




BIOS sees the disks as -

Answer { Please select your correct option )

e VUAnswers.com

(\

— —

(a

in the form of sectors only

in the form of tracks only

YNade by: Yy aqar Siddhu




In dewice attribute word, which of the following bit decides whether it 15 a character dewice or a block dewvice 7 -

Answer { Please select your correct option )

Bit 12 VUAnswers.com

(\

Bit 13

Bit 14

-/"-'_'_—_\\\
o

YNade by: Yy aqar Siddhu




In 9 pin DB-9, which pin number 15 assigned to DSR (Data Set Ready) 7 -

Answer { Please select your correct option )

4 VuAnswers.com
D
p YNade by: Y/aqgar Siddhe




In 9 pin DB-8, which pin number 15 assigned to RTS (Request To Send) 7 =

Answer { Please select your correct option )

5 VuAnswers.com
A
" YNade by: Y/aqar Siddhe




In 9 pin DB-8, which pin number 15 assigned to ED (Received Data) 7 -

Answer { Please select your correct option )

1 VUAnswers.com
¢
p YNade by: Y/aqgar Siddhe




In 9 pin DB-9, which pin number 15 assigned to TD (Transmtted Data) 7 -

Answer { Please select your correct option )

1 VuAnswers.com
®
" YNade by: Y/aqar Siddhe




Which of the following BIOS INT prowides senal port services =

Answer{laase select your correct option )

p YNade by: Y/aqgar Siddhe




A 32 bit address register can accessup to ... of memory, so memory access has imncreased a lot. -

Answer { Please select your correct option )

2GB VUuAnswers.com
p YNade by: Y/aqgar Siddhe




The

segment address of mterrupt n will be at

Answer Mct your correct option )

——

e O VUAnswers.com
;
nxd+1
;
@,) n./f sure
C
nxd+3
:

YNade by: Yy aqar Siddhe



An 8 x 16 font 15 stored i bytes. =

Answer { Please select your correct option )

: VUAnswers.com

(\

YNade by: Yy aqar Siddhu




Which of the following interrupts 1s Non Maskable Interrupt (INIT). =

Answer { Please select your correct option )

) VUAnsSwers.com
" YNade by: Yaqar Siddhe




Which of the following 1s a special type of interrupt that returns to the same mstruction mstead of the next mstruction? -

Answer&;Plg_a;.g.seleetyonreoﬁocLQ&tion )

T — VUAnswers.com
(\-

Debug nterrupt
-

Anthmetic overflow mnterrupt
F

Change of sign mterrupt
F

YNade by: Yy aqar Siddhu




In Programmable Interrupt Controller, which one of the following ports 1s referred as mterrupt mask register? -

Answer { Please select your correct option )

19 VuAnswers.com
)
p YNade by: Y/aqgar Siddhe




Which one of the following interrupts 15 used for anthmetic overflow? -

Answer { Please select your correct option )

Ty VuAnswers.com

c

INT 1

INT 2

INT 3

YNade by: Yy aqar Siddhu




Question No : 1 of 52 Marks: 1 (Budgeted Time 1 Min) (=

The instruction mowv ax, 0 &

R e e VuAnswers.com

will set the ZF

-

(&d]l not set the ZF
~

12 a mathematical instruction

o

1s a logical mstruction

YNade by: Yy/aqar Siddhe




Question No : 2 of 52

Marks: 1 (Budgeted Time 1 Min) =

In STOSE mstruction, when DF 1s set, S11s

Answ~ ~__ase selécr,. °r correct option )

-

| incremented by 1 3
-~

—

e T I T

o —

Incremented by 2
~

Decremented by 1

Decremented by 2

YNade by: YY/aqar Siddhu




Question No : 3 of 52 Marks: 1 (Budgeted Time 1 Min) (=

—

The data on which we want to perform some operations 15 called -~

A T e VuAnswers.com

Opcode

-

e ————

P
(\-

Operator

Operation

YNade by: Yy/aqar Siddhe




Question No : 4 of 52 Marks: 1 (Budgeted Time 1 Min) (=

After the execution of mstruction “RET 27 -
s
o | Pibe et R coat iom) VuAnswers.com
oP 1s tncremented by 2
~
oP 15 decremented by 2
- not sure
oP 15 incremented by 4
®
SP 15 decremented by 4
P
L
YNade by: YY/aqar Siddhu




Question No : 5 of 52 Marks: 1 (Budgeted Time 1 Min) E
RETF will pop the segment address i the -~
s
T A ———— VuAnswers.com
( CS register
DS register
~
55 register
(®
ES register
P
@
YNade by: YY/aqar Siddhu



Question No : 6 of 52 Marks: 1 (Budgeted Time 1 Min) (=

suppose DH contains 10001010 and CL contains 3, what 1s the value of DH after the following mstruction: -~
SHL. DH, CL.

T VuAnswers.com

.

;

10001010
-

00010100
(®,

01010111
;

YNade by: Y/aqgar Siddhe




Question No : 7 of 52

Marks: 1 (Budgeted Time 1 Min) E

| In STOSB nstruction, SI1s decremented or mncremented by [—
=
R VuAnswers.com
3
~
2
~
di_
4
82 ®
YNade by: YY/aqar Siddhu




Marks: 1 (Budgeted Time 1 Min) E

—

&

Question No : 8 of 52

The OUT mstruction uses as source register.

Answer ( Please select your correct option )

.

el
p

BL or BX

CL or CX

DL or DX

YNade by: Yy/aqar Siddhy




Question No : 9 of 52 Marks: 1 (Budgeted Time 1 Min) (=

When two devices i the system want to use the same IRQ line then what will happen? -~
s
R [ VUAnswers.coll
An TRQ Collision
~
e T, )
An TRQ Conflict
~
An TRQ Crash
(®
An IRQ Blockage
P
@
YNade by: YY/aqar Siddhu




Question No : 10 of 52 Marks: 1 (Budgeted Time 1 Min) E
Which bit of the Attribute Byte (counting from nght to left, starting from 0) represents the RED component of background color 7 -~

VuAnswers.com

Answer ( Please select your correct option )

3
-

YNade by: YY/aqar Siddhu




Question No : 11 of 52 Marks: 1 (Budgeted Time 1 Min) E
Sign flag 15 set to for positive numbers 2l
=
Answer {Please select your correct option ) erm
e 0
P
+1
-~
Oor1
®
1
C ®
YNade by: YY/aqar Siddhu




Question No : 12 of 52 Marks: 1 (Budgeted Time 1 Min) (=

—

Computer Architecture and Assembly Language Programming 1s a course that 15 designed to study -~
s
o | Pibae et R coeat iom) VuAnswers.com
Hardware only
~
Software only
o
(6mputer systemn more cl@)
&[T
Computer Graphics
P
@
YNade by: YY/aqar Siddhu




Question No : 13 of 52 Marks: 1 (Budgeted Time 1 Min) =

IBM PC has separate memory address space and peripheral address space. Peripheral address space 1s selected when nstructions 15 given to the processor. -
.2
e e VuAnswers.com
N
C
ADD
~
MOV
-
DEC
& ®
YNade by: YY/aqar Siddh




Question No : 14 of 52 Marks: 1 (Budgeted Time 1 Min) =
The parallel port connector 1s called [
s

VuAnswers.com

Ansvgggiﬂl.e&gelect your correct option )

G,

BD-25

DE-24

BD-24

YNade by: YY/aqar Siddhu




Question No : 15 of 52

Marks: 1 (Budgeted Time 1 Min) =

The Single step mterrupt 15

Answer { Please select your correct option )

Hardware mterrupt
p

f"f‘_F_h_‘H\

= =

< Like drnde by zero interrupt
P

e ———

—

(| Like divide by 1 interrupt
4
i

{

Like dinide by 2 mterrupt

YNade by: Yy/aqar Siddhe




Question No : 16 of 52 Marks: 1 (Budgeted Time 1 Min) =
are not used i mathematical operations. &
s

VUuAnswers.com

Answer ( Please select your correct option )

Carry, Interrupt and Trap flag
~

..-o-"‘"dd_'—'_ _\—\_\-““-u._\

(Direcﬁon, Interrupt and Trap flag
(‘. \

Direction, Overflow and Trap flag

Direction, Interrupt and Sign flag

YNade by: YY/aqar Siddhu



Marks: 1 (Budgeted Time 1 Min) E

—

&

Question No : 17 of 52

|
on the screen.

In graphics mode a location in video memory corresponds to a

Answer ( Please select your correct option )

-

(< dot

circle

rectangle

YNade by: Yy/aqar Siddhy




Question No : 18 of 52 Marks: 1 (Budgeted Time 1 Min)  [=

In DOS mput buffer, the number of characters actually read on return is stored in byte. -~

A T e VuAnswers.com

third

-

fourth

first

P A D e

YNade by: Yy/aqar Siddhe




Question No : 19 of 52 Marks: 1 (Budgeted Time 1 Min) (=

The value of AH register in the write Graphics pixel service 1s [

R ——" VuAnswers.com

( 0Ch

OBh

1Ch

2Ch

YNade by: Yy/aqar Siddhe




Question No : 20 of 52 Marks: 1 (Budgeted Time 1 Min) =

INT 21 serwvice 01H 1s used to read character from standard mput with echo. It returns the result in register. i

R T VUuAnswers.com

D

bl

cl

YNade by: YY/aqar Siddhu




Question No : 21 of 52 Marks: 1 (Budgeted Time 1 Min) (=

|

VESA (an organization) organizes 16 color bits for every pixel i format. -~

A T e VuAnswers.com

R D)

-

5:6:5

5:5:6

5:6:6

YNade by: Yy/aqar Siddhe




Question No : 22 of 52 Marks: 1 (Budgeted Time 1 Min) (=

l WVESA stands for &

A T e VuAnswers.com

Wariable Electronics Standards Association

-

..-:-'-""_'_ﬂ_'_ﬁ_ ——__‘-h"‘“-_

< Video Electronics Standards Association
(@ ‘\_______;

Video Energy Standards Assoctation

Vega Energy Standards Association

YNade by: YY/aqar Siddhu




Question No : 23 of 52

Marks: 1 (Budgeted Time 1 Min) E

IDTR 15 a

Answer ( Please select your correct option )

-

16 bit

20 bit

32 bit

o -

YNade by: Yy/aqar Siddhy




Question No : 24 of 52 Marks: 1 (Budgeted Time 1 Min) (=
In Motorola 68K processors, registers can hold addresses in mdirect memory accesses. =
s

VuAnswers.com

Answer{-Ptease select your correct option )

-

A0-47
-~

BO-B7

R

C0-C7

D0-D7

YNade by: YY/aqar Siddhu




Question No : 25 of 52 Marks: 1 (Budgeted Time 1 Min) (=
Motorola 68K processors have 32 bit general purpose registers. -~
s

VUuAnswers.com

Answer ( Please select your correct option )

32
~

64

d ONade by: Y/aqgar Siddhe




Question No : 26 of 52 Marks: 1 (Budgeted Time 1 Min) E
In Computer Architecture, EISC stands for -
.~

VuAnswers.com

Answer ( Please select your correct option )

Reversed Instruction Set Computer
~

Reversed Instruction System Computer

fi{educed Instruction Set Computer
® \_‘

Reduced Instruction System Computer

Pt

YNade by: YY/aqar Siddhu




Question No : 27 of 52 Marks: 1 (Budgeted Time 1 Min) E
In Computer Architecture, CISC stands for -
.~

VUuAnswers.com

Anmn )
( Complex Instruction Set Computer
@ \\_\N_

Complex Instruction System Computer

Correct Instruction Set Computer

Correct Instruction System Computer

YNade by: YY/aqar Siddhu




Question No : 28 of 52 Marks: 1 (Budgeted Time 1 Min) (=

[ |
Video services are exported wia -~

A T e VuAnswers.com

INT 7

-

~—

AL

INT 9

INT 8

YNade by: Yy/aqar Siddhe




Question No : 29 of 52 Marks: 1 (Budgeted Time 1 Min) E
BIOS sees the disks as =
>

VuAnswers.com

Answer ( Please select your correct option )

logical storage dewice
~

—

/_..-'-"
("

i the form of sectors only

in the form of tracks only

YNade by: YY/aqar Siddhu




Question No : 30 of 52 Marks: 1 (Budgeted Time 1 Min) E
Which of the following gives more logical wiew of the storage medum 7 &
s
T — VuAnswers.com
( DOS
{
RAN
~
ROM
(®
BIOS
& e
YNade by: YY/aqar Siddhu




Question No : 31 of 52 Marks: 1 (Budgeted Time 1 Min) E
In 9 pin DB-9, which pin number 1s assigned to DSE (Data Set Ready) 7 &
.~
e T e VuAnswers.com
4
~
5
~
_,.,.-—-a.\.,_\\
<i)
E
C e
YNade by: YY/aqar Siddhu




Question No : 32 of 52 Marks: 1 (Budgeted Time 1 Min) E
In 9 pin DB-9, which pin number 15 assigned to RTS (Request To Send) 7 -~
.~
e T e VuAnswers.com
5
~
B
~
.-/""—""*\\
()
8
C e
YNade by: YY/aqar Siddhu




Question No : 33 of 52 Marks: 1 (Budgeted Time 1 Min) =
| In 9 pin DB-9, which pin number 1s assigned to CTS (Clear To Send) 7 &
.
PR e VuAnswers.com
B
5
>
2
"
¢ D
9
& ®
YNade by: YY/aqar Siddhu




Question No : 34 of 52 Marks: 1 (Budgeted Time 1 Min) E
In 9 pin DB-9, which pin number 15 assigned to RD (Recetved Data) ? &
s
e ———— VuAnswers.com
1
~
/"_“\\
-
3
®
4
& e
YNade by: YY/aqar Siddhu




Question No : 35 of 52 Marks: 1 (Budgeted Time 1 Min) E
In 9 pin DB-9, which pin number 1s assigned to TD (Transmitted Data) 7 -~
.~
e T e VuAnswers.com
1
~
2
~
/""_"‘\\\
3
4
C e
YNade by: YY/aqar Siddhu




Question No : 36 of 52 Marks: 1 (Budgeted Time 1 Min) E
In 9 pin DB-9, RI (Ring Indicator) is assigned on pin number [
s

VuAnswers.com

Answer ( Please select your correct option )

6
-

YNade by: YY/aqar Siddhu




Question No : 37 of 52 Marks: 1 (Budgeted Time 1 Min) E
The table mdex (TT) 1s set to to access the GDT (Global Descriptor Table). =
oz
e ———— VuAnswers.com
1
~
b,
D
=
®
-2
C e
YNade by: YY/aqar Siddhu




Question No : 38 of 52 Marks: 1 (Budgeted Time 1 Min) (=

—

Which of the following interrupt i1s used i debugging with the help of trap flag? -~

A T e VuAnswers.com

INT O

-

—— ———

AL

INT 2

INT 3

YNade by: Yy/aqar Siddhe




Question No : 39 of 52 Marks: 1 (Budgeted Time 1 Min) (=
In Programmable Interrupt Controller, which one of the following ports is referred as interrupt mask register? -~
s

VuAnswers.com

Answer ( Please select your correct option )

19
~

20

A

22

YNade by: YY/aqar Siddhu




Question No : 40 of 52 Marks: 1 (Budgeted Time 1 Min) (=
Which one of the following interrupts 1s used for anthmetic overflow? -~
s

VuAnswers.com

Arigwver ( Please-select your correct option )

e
g YNade by: Y/aqar Siddhe




[Question No : 1 of 52

Marks: 1 (Budgeted Time 1 Min)  [=]]

The process of sending signals back and forth 15 called

~

Answer { Please select your correct option )

p

Activity

Hand-shaking

Interruption

o~ 0

—_

Time clicking

YNade by: YWaqar Siddhu



|Question No : 2 of 52 Marks: 1 (Budgeted Time 1 Min)  [=]]

Which of the following TR Qs 15 connected to serial port COM 17 =

(v

RO 5

RQ 6

RQ 7

YNade by: YWaqar Siddhu




[Question No : 3 of 52 Marks: 1 (Budgeted Time 1 Min)  [=]]

~

Which of the following mterrupt 15 of highest prionty interrupt?

Anover Plosse seloeyour comectopton) VuAnswers.com

Key board mterrupt

p

—

/,f.

imer interrupt

P

INT 2

INT 3

YNade by: YWaqar Siddhu




[Question No : 4 of 52 Marks: 1 (Budgeted Time 1 Min)  [=]]

~

Regarding assembler, which statement 1s true:

Hss
A

ssembler converts mnemonics to the corresponding OPCODE

\

Assembler converts OPCODE to the corresponding mnemonics

Assembler executes the assembly code all at once

Assembler executes the assembly code step by step

YNade by: YWaqar Siddhu




|Question No : 5 of 52

Marks: 1 (Budgeted Time 1 Min) EI

CMPS mstruction subtracts the source location to the destination location. Source location always lies in

o~

Answer { Please select your correct option )

-

ES5L

A

YNade by: YWaqar Siddhu



|Question No : 6 of 52 Marks: 1 (Budgeted Time 1 Min)  [=]]

For the execution of the mstruction “DIV BL”, the implied dinidend will be stored in =

S S e s e VuAnswers.com

"l

BX

CX

DX

YNade by: YWaqar Siddhu




_Question No : 7 of 52

Marks: 1 (Budgeted Time 1 Min)  [=]]

When two devices in the system want to use the same IRQ line then what will happen?

~

Answer { Please select your correct option )

p

An TRQ Collision

o b

AnTRQ Conflict

An IRQ) Crash

An TRQ Blockage

YNade by: YWaqar Siddhu



IQuestion No : 8 of 52

Marks: 1 (Budgeted Time 1 Min)  [=]]

The memory address always move from

~

Answer [ Pleasesetectyour correct option |

F

memory to processor

memory to penpheral

peripheral to processor

YNade by: YWaqar Siddhu



[Question No : 9 of 52

Marks: 1 (Budgeted Time 1 Min)  [=]]

After the execution of following two instructions, what will happen ?

PUSH AX
POP DX

~

Answer { Please select your correct option )

The wvalue of DZ{ will be at the top of stack

P
The value of A3 will be at the top of stack
)
The value of D2{ will be copied into A3
~

T

< The value of A3 will be copied into D3
& x

YNade by: YWaqar Siddhu



[Question No : 10 of 52 Marks: 1 (Budgeted Time 1 Min)  [=]]

~

The second byte of the word designated for one screen location holds

Anover Plovse selonyout Somect opion) VuAnswers.com

The dimensions of the screen
P
Character position on the screen
@
Character color on the screen
~
ASCII code of the character
C @
YNade by: Yaqar Siddhe




_Question No : 11 of 52

Marks: 1 (Budgeted Time 1 Min)  [=]]

In Shift instructions the destination can be

o~

Answer ( Please select your correct option )

An 8-bit register only
(@
A register only
)
A memory location only
o
A register or memory location
& @
YNade by: Y/ aqgar Siddhe




|Question No : 12 of 52 Marks: 1 (Budgeted Time 1 Min)  [=]]

INT 10 15 used for SEIVICES. =

AW { Please\sekact your correct option ) MM-%
\ BIOS wideo
P

DOS wideo

Disk

YNade by: YWaqar Siddhu




|Question No : 13 of 52 Marks: 1 (Budgeted Time 1 Min)  [=]]

~

In graphics mode a location i wideo memory corresponds to a on the screen.

Anover | Plesse seloeyour comectopton) VuAnswers.com

p

(-< dot

circle

rectangle

YNade by: YWaqar Siddhu




|Question No : 14 of 52 Marks: 1 (Budgeted Time 1 Min) (=]

~

A thread can not be created

(( in static way

i dynatic way

in static and dynamic way at the same time

manually

YNade by: YWaqar Siddhu




_Question No : 15 of 52

Marks: 1 (Budgeted Time 1 Min)  [=]]

The space where the current state of a task 1s stored 15 called

~

Answer { Please select your correct option )

p

control block

— e

Pt
Process control block

stack

hard disk

YNade by: YWaqar Siddhu



|Question No : 16 of 52 Marks: 1 (Budgeted Time 1 Min)  [=]]

~

VESA (an organization) organizes 16 color bits for every pixel in format.

Anover | Plesse seloeyour comect opton) VuAnswers.com

5:5:5

p

——

5:5:6

5:6:6

i ONade by: Yaqgar Siddhe




|Question No : 17 of 52 Marks: 1 (Budgeted Time 1 Min)  [=]]

VESA stands for =

Anover Plosse seloeyout conect opion) VuAnswers.com

WVanable Electronics Standards Assoctation
P

e — ———

<ﬁfi§eo Electronics Standards Association
& e e

Video Energy Standards Association

Vega Energy Standards Association

YNade by: YWaqar Siddhu




_Question No : 18 of 52

Marks: 1 (Budgeted Time 1 Min)  [=]]

The Physical address of Interrupt Descrptor Table (IVT) 15 stored in

~

Answer { Please select your correct option )

p

GDTR

LGTID

BT oy

“

)

IVT

YNade by: YWaqar Siddhu



|Question No : 19 of 52 Marks: 1 (Budgeted Time 1 Min)  [=]]

~

IDTR 15 a register.

Anover | Plesse seloeyour comectopton) VuAnswers.com

16 bit

p

20 bit

32 bt

AN

par? ONade by: Yaqgar Siddhe




|Question No : 20 of 52 Marks: 1 (Budgeted Time 1 Min)  [=]]

~

In Motorola 68K processors, registers can hold addresses in mdirect memory accesses.

( A0-A7
i

BO-B7

C0-C7

D0-D7

YNade by: YWaqar Siddhu




[Question No : 21 of 52

Marks: 1 (Budgeted Time 1 Min)  [=]]

Motorola 68K processors have

32 bit general purpose registers.

~

Answer { Please select your correct option )

p

32

64

YNade by: YWaqar Siddhu



|Question No : 22 of 52 Marks: 1 (Budgeted Time 1 Min)  [=]]

In Computer Architecture, RISC stands for =

Anover Plosse seloeyour conect oplon) VuAnswers.com

Reversed Instruction Set Computer

p

Reversed Instruction System Computer

@
(| Reduced Instruction Set Com@)
o e

Eeduced Instruction System Computer

YNade by: YWaqar Siddhu




|Question No : 23 of 52 Marks: 1 (Budgeted Time 1 Min)  [=]]

~

In multi-tasking environment, which 1s called scheduler for sawing and restonng the registers?

Anover [ Plesse sefoeyour comectopton) VuAnswers.com

INT 10

p

INT 08

T

p

INT 07

YNade by: YWaqar Siddhu




|Question No : 24 of 52 Marks: 1 (Budgeted Time 1 Min) (=]

~

Threads can have function calls, parameters and which type of vanables?

Anover | Plosse seloeyour comectopton) VuAnswers.com

global

T

=

legal

illegal

YNade by: YWaqar Siddhu




|Question No : 25 of 52 Marks: 1 (Budgeted Time 1 Min)  [=]]

In multi-tasking programming, all threads are -

Answer [ Plegse selettyourcorrect option | MMI%
< Independent to each other
P

Dependent on each other

Not executed

Not scheduled

YNade by: YWaqar Siddhu




|Question No : 26 of 52 Marks: 1 (Budgeted Time 1 Min)  [=]]

“Far” jump makes intra control possible -

Anover Plovse seloeyour comectopton) VuAnswers.com

Register

p

e e

b

1
p

Memory

Code

YNade by: YWaqar Siddhu




|Question No : 27 of 52 Marks: 1 (Budgeted Time 1 Min)  [=]]

~

All possible types of Jumps in assembly language are:

Anover [ Plovse seloeyour comectopton) VuAnswers.com

short, far

p

shott, near

ort, near, far
F

shott, near, far, long

YNade by: YWaqar Siddhu




[Question No : 28 of 52

Marks: 1 (Budgeted Time 1 Min)  [=]]

BIOS sees the disks as

~

Answer { Please select your correct option )

p

logical storage device

et S i 7

—

in the form of sectors only

in the form of tracks only

YNade by: YWaqar Siddhu



|Question No : 29 of 52 Marks: 1 (Budgeted Time 1 Min)  [=]]

~

Which of the following gives more logical wew of the storage medmum 7

— — —

Apswer ( Ple}se\ select your correct option ) MM-%

Q\ DOS

ROM

BIOS

YNade by: YWaqar Siddhu




[Question No : 30 of 52

Marks: 1 (Budgeted Time 1 Min)  [=]]

In 8 pin DB-9, which pin number 15 assigned to TD (Transmutted Data) 7

~

Answer { Please select your correct option )

p

1

YNade by: YWaqar Siddhu



|Question No : 31 of 52 Marks: 1 (Budgeted Time 1 Min) (=]

In 8 pin DB-9, which pin number 15 assigned to DTR (Data Terminal Ready) 7 -

Anover Plesse sefoeyour comectopton) VuAnswers.com

1

p

YNade by: YWaqar Siddhu




_Question No : 32 of 52

Marks: 1 (Budgeted Time 1 Min)  [=]]

In 8 pin DB-9, RI (Ring Indicator) 1s assigned on pin number

~

Answer { Please select your correct option )

p

7

YNade by: YWaqar Siddhu



_Question No : 33 of 52

Marks: 1 (Budgeted Time 1 Min)  [=]]

B0881sa ..o

~

Answer [ Please-selact your correct option )

< 16 bit processor

32 bit processor

64 bit processor

128 bit processor

YNade by: YWaqar Siddhu



|Question No : 34 of 52 Marks: 1 (Budgeted Time 1 Min) (=]

~

A 32 bit address register can accessupto ... of memoty, so memory access has imcreased a lot.

Anover | Plesse seloeyour comectopton) VuAnswers.com

2GEB
~

( 4GB
A

6GE

8GB

YNade by: YWaqar Siddhu




_Question No : 35 of 52

Marks: 1 (Budgeted Time 1 Min) EI

A register m extended 32 bit register 15 renamed as

o~

Answer { Please select your correct option )

-

AXE

T

EAX

HKAX

YNade by: YWaqar Siddhu



|Question No : 36 of 52 Marks: 1 (Budgeted Time 1 Min)  [=]]

The table index (IT) 15 set to to access the GDT (Global Descriptor Table). =

Anover Plesse sefoeyour comectopton) VuAnswers.com

YNade by: YWaqar Siddhu




|Question No : 37 of 52 Marks: 1 (Budgeted Time 1 Min) EI

o~

The segment address of mterrupt n will be at

( nxd
P~

nxzd+1

-~

O /,\//’
nxzd+3

~

YNade by: YWaqar Siddhu




_Question No : 38 of 52

Marks: 1 (Budgeted Time 1 Min)  [=]]

Programmable Interrupt Controller (PIC) has

~

Answer { Please select your correct option )

p

One input signals and eight output signals

One mput signal and one output signal

f’fﬁ_ ———______\-_

-— —

@signals and one outp;tsw

Eight mput signals and eight output signals

YNade by: YWaqar Siddhu



|Question No : 39 of 52 Marks: 1 (Budgeted Time 1 Min) IQI

o~

mimber of pin(s) of a processor 1sfare used by the external hardware to generate an interrupt.

Answer ( Please select your correct option ) MM'M

1

; ONade by: Yaqgar Siddhe




|Question No : 40 of 52 Marks: 1 (Budgeted Time 1 Min) (=]

~

In Programmable Interrupt Controller, Port 1s referred as a Control pott.

Anover | Plesse seloryour comect opton) VuAnswers.com

19

p

20

21

22
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lQuestion No : 1 of 52

Marks: 1 (Budgeted Time 1 Min)  [=]|

In STOSW mstruction, when DF 1s clear, SI1s

o~

Answer ( Please select your correct option )

Incremented by 1

Incremented by 2

Decremented by 1

Decremented by 2

YNade by: Yy/aqgar Siddhe



|Question No : 2 of 52 Marks: 1 (Budgeted Time 1 Min) BI

Which of the following IRQs 15 connected to senal port COII 17 -

Answer ( Please select your correct option ) W
IRQ 4
) correct
IRQ 5
&
IRQ &
-
IRQ 7
{3
YNade by: Yy/aqar Siddhe




|Question No : 3 of 52 Marks: 1 (Budgeted Time 1 Min) BI

Which of the following IR Qs 1s used by the parallel port? -

Answer ( Please select your correct option ) W
IRQ 4
P
IRQ 5
&
IRQ &
-
IRQ 7
{3
comect YNade by: Yy/aqar Siddhe




|Question No : 4 of 52 Marks: 1 (Budgeted Time 1 Min) BI

o~

The programmable mterval timer (PIT) has mput frequency of

Answer ( Please select your correct option ) W
1.193MHZ
c correct
2. 193N HZ
&
3.193MHZ
-
4.193MHZ
{3
.
YNade by: YY/aqar Siddhe




|Question No : 5 of 52 Marks: 1 (Budgeted Time 1 Min) BI

o~

Which of the following interrupt 1s of highest prionty mterrupt?

s { Fiomwe welect yus coxss i opion) VuAnswers.com

Key board mterrupt

Timer interrupt

INT 2

INT 3

YNade by: Yy/aqgar Siddhe




|Question No : 6 of 52 Marks: 1 (Budgeted Time 1 Min) BI

o~

By executing which of the following mstruction, the value m AX register becomes the half of previously stored value 7

s { Fiowe welect yusk coxss i option) VuAnswers.com

Shl A3 1

ohr A3, 1

NOT AX

AND AX, OxFFFF

YNade by: Yy/aqgar Siddhe




lQuestion No : 7 of 52

Marks: 1 (Budgeted Time 1 Min)  [=]|

In the rotate nght operation every bit moves one position to the nght and the bit dropped from the nght 1s mserted at the left and:

o~

el (PRS i i covpeit opton) VuAnswers.com
The dropped bit1s also copied in CF
2 correct
The dropped bit 1s also copied n AF
&
The dropped bit is also copied in ZF
-~
The dropped bit 1s not copied mn any flag
{
a
YNade by: YY/aqar Siddhe



lQuestion No : 8 of 52

Marks: 1 (Budgeted Time 1 Min)  [=]|

In stning mstructions, CX 15 always

o~

Answer ( Please select your correct option ) W
Decremented by 1
o
Decremented by 2
@
Incremented by 1
" correct
Incremented by 2
&
@
YNade by: YY/aqar Siddhe



|Question No : 9 of 52 Marks: 1 (Budgeted Time 1 Min) EJ

The word size of the processor 1s defined by the size of -

—~—. ————

gy {Pioaon shoct oy it oatioe VuAnswers.com

Q Its accumulator register
&
Address bus attached
~ X !

Memory attached

Control Bus

YNade by: Yy/aqar Siddhe




|Question No : 10 of 52 Marks: 1 (Budgeted Time 1 Min) BI

o~

cannot predict which element the needs, at a particular mstant of time.

s { Fiemwe welect yus coxss i option) VuAnswers.com

Control bus, Memory

Processor, Control bus
" | Processor, Memory

Memory, Processor

Control bus, IMemory

YNade by: Yy/aqgar Siddhe




|Question No : 11 of 52 Marks: 1 (Budgeted Time 1 Min) BI

The time mterval between two tuner ticks 1s -~

s { Fiowe welect yusk coxss i option) VuAnswers.com

40ms

45ms

50ms

55ms

correct YNade by: Yy/aqgar Siddhe




|Question No : 12 of 52 Marks: 1 (Budgeted Time 1 Min) BI

o~

In DOS mput buffer, the number of characters actually read on return 1s stored in byte.

Answer ( Please select your correct option ) W
third
P
fourth
&
first
-
second
{3
s YNade by: Yy/aqar Siddhe




IQuestion No : 13 of 52

Marks: 1 (Budgeted Time 1 Min)  [=]|

A thread can not be created

o~

e (Ve e o e et VuAnswers.com
in static way
o
in dynamic way
@
in static and dynamic way at the same time
-~
mamally
2 @
o
YNade by: Y/aqgar Siddhe



|Question No : 14 of 52 Marks: 1 (Budgeted Time 1 Min) BI

o~

The space where the current state of a task 15 stored 15 called

s { Fiemwe welect yus coxss i option) VuAnswers.com

control block

Process control block

stack

hard disk

YNade by: Yy/aqgar Siddhe




IQuestion No : 15 of 52

Marks: 1 (Budgeted Time 1 Min)  [=]|

VESA stands for

o~

Answer ( Please select your correct option )

Vanable Electronics Standards Association

Wideo Electronics Standards Association

Video Energy Standards Association

WVega Energy Standards Association

YNade by: Yy/aqgar Siddhe



|Question No : 16 of 52 Marks: 1 (Budgeted Time 1 Min) BI

o~

VBE stands for , as proposed by VESA (an organization).

s { Fiorwe welect yus voxss i opion) VuAnswers.com

Video BIOS Extensions

Video BIOS Emergence

Video Binary Extensions

Video Blocked Estensions

YNade by: Yy/aqgar Siddhe




|Question No : 17 of 52 Marks: 1 (Budgeted Time 1 Min) BI

In Computer Architecture, the Protected mode 1s different from -~

s { Fiomwe welect yus coxss i opion) VuAnswers.com

Programming mode

Real time mode

Visualization mode

IMemory mode

YNade by: Yy/aqgar Siddhe




|Question No : 18 of 52 Marks: 1 (Budgeted Time 1 Min) BI

o~

In Assembly language programming, how many prevalent Calling Conventions do exist 7

Answer ( Please select your correct option ) W
: 1
2
= correct
3
-
4
{3
YNade by: Yy/aqar Siddhe




|Question No : 19 of 52 Marks: 1 (Budgeted Time 1 Min) BI

o~

In Motorola 68K processors, registers can hold addresses i mdirect memory accesses.

Answer ( Please select your correct option ) W
AD-AT
P
correct
BO-B7
&
C0-C7
-
D0-D7
{3
.
YNade by: Yy/aqar Siddhu




|Question No : 20 of 52 Marks: 1 (Budgeted Time 1 Min) BI

Motorola 68K processors have 32 bit general purpose registers. -

s { Fiowe welect yusk coxss i option) VuAnswers.com

32

64

16

YNade by: Yy/aqgar Siddhe




|Question No : 21 of 52 Marks: 1 (Budgeted Time 1 Min) BI

o~

Which byte of the DOS mput buffer holds the number of characters actually read on return?

Answer ( Please select your correct option ) W
First Byte
P
second Byte
£ correct
Third Byte
-
Last Byte
{3
.
YNade by: Yy/aqar Siddhu




|Question No : 22 of 52 Marks: 1 (Budgeted Time 1 Min) BI

o~

Threads can have function calls, parameters and which type of vanables?

Answer ( Please select your correct option ) W
global
P
local
&
correct
legal
-
illegal
{3
.
YNade by: Yy/aqar Siddhu




IQuestion No : 23 of 52

Marks: 1 (Budgeted Time 1 Min)  [=]|

In multi-tasking programming, all threads are

o~

Answer ( Please select your correct option )

Independent to each other

Dependent on each other

Not executed

Not scheduled

YNade by: Yy/aqgar Siddhe



|Question No : 24 of 52 Marks: 1 (Budgeted Time 1 Min) BI

o~

Video services are exported wa

Answer ( Please select your correct option ) W
INT 7
P
INT 10
= correct
INT 9
-
INT 8
{3
YNade by: Yy/aqar Siddhe




|Question No : 25 of 52 Marks: 1 (Budgeted Time 1 Min) BI

o~

The masimum memory, IAPXEE can access 15

Answer ( Please select your correct option ) W
1 KB
P
64 KB
&
1 MB
; correct
64 MB
{3
YNade by: Yy/aqar Siddhe




IQuestion No : 26 of 52

Marks: 1 (Budgeted Time 1 Min)  [=]|

In direct addressing the memory address 1s

and 15 grven i the mnstruction.

o~

Answer ( Please select your correct option ) W
Fixed
& comrect
Empty
&
& variable
-
A register
2 .
YNade by: YY/aqar Siddhe



|Question No : 27 of 52 Marks: 1 (Budgeted Time 1 Min) BI

o~

Instruction “mowv ax, bl” has a problem.

s { Fiemwe welect yus coxss i option) VuAnswers.com
size mistmatch

value mismatch

operand mismatch

memory mismatch

YNade by: Yy/aqgar Siddhe




|Question No : 28 of 52 Marks: 1 (Budgeted Time 1 Min) BI

o~

The jump "JC" is taken when

Answer ( Please select your correct option ) W
CF=1
P
cormrect
CF=0
&
ZF=0
-
ZF=1
{3
YNade by: Yy/aqar Siddhe




[Question No : 29 of 52 Marks: 1 (Budgeted Time 1 Min) (=]

-~

Which of the following gives more logical wew of the storage medum 7

ROM

BIOS

YNade by: Yy/aqgar Siddhe




|Question No : 30 of 52 Marks: 1 (Budgeted Time 1 Min) (=]

-~

The senal port connection 15 a —-------======---- connector

Ampowes {1iaase shject yous corsart apiion) VuAnswers.com
S pin DB-9
&

8 pin DB-9

3 pin DB-9

9 pin DB-5

YNade by: Yy/aqgar Siddhe




|Question No : 31 of 52 Marks: 1 (Budgeted Time 1 Min) BI

In 8 pin DB-9, which pin number 15 assigned to RT'S (Request To Send) 7 -

s { Fionwe welect yus coxss i option) VuAnswers.com

5

YNade by: Yy/aqgar Siddhe




|Question No : 32 of 52 Marks: 1 (Budgeted Time 1 Min) BI

In 9 pin DB-9, which pin number 15 assigned to CTS (Clear To Send) 7 -

Answer ( Please select your correct option ) W
6
P
7
&
3
-
correct
9
{3
YNade by: Yy/aqar Siddhe




|Question No : 33 of 52 Marks: 1 (Budgeted Time 1 Min) BI

In 9 pin DB-9, RI (Ring Indicator) 15 assigned on pin number -

Answer ( Please select your correct option ) W
6
P
7
&
3
-
. correct
{3
YNade by: Yy/aqar Siddhe




|Question No : 34 of 52 Marks: 1 (Budgeted Time 1 Min) (=]

8088188 oo =

s vy o sene wpon) VuAnswers.com

16 bit processor
5

32 bit processor

64 bit processor

128 bit processor

YNade by: Yy/aqgar Siddhe




IQuestion No : 35 of 52 Marks: 1 (Budgeted Time 1 Min) (=]

-~

A register in extended 32 bit register is renamed as

oot | Plowse st you ctnect apion) VuAnswers.com

AXE

.-'-'—'_‘—‘“-_\\

( AAX
&

HKAX

YNade by: Yy/aqgar Siddhe




[Question No : 36 of 52

Marks: 1 (Budgeted Time 1 Min) (=]

The table index (T1) 15 set to to access the GDT (Global Descrniptor Table).

-~

Answer ( Please select your correct option )

(&

<

YNade by: Yy/aqgar Siddhe



|Question No : 37 of 52 Marks: 1 (Budgeted Time 1 Min) (=]

-~

In 68K processorstheretsa ........................ program counter (PC) that holds the address of currently executing mstruction.

Atmuor (RN W ioc yoww cob ot aption) VuAnswers.com

8 bit

16 bit

e —.
_—

(‘<®

64 bit

YNade by: Yy/aqgar Siddhe




|Question No : 38 of 52 Marks: 1 (Budgeted Time 1 Min) (=]

-~

An 8 x 16 font 15 stored in bytes.

Atmuor (XN W ios yoww cob ot aption) VuAnswers.com

¢ /d_-\‘
([ | .
YNade by: Yy aqar Siddhe




|Question No : 39 of 52 Marks: 1 (Budgeted Time 1 Min) (=]

-~

Which of the following mterrupt 1s used in debugging with the help of trap flag?

Atmuor (XN W ioct yoww cob ot aption) VuAnswers.com

INT O

il

L

INT 2

INT 3

YNade by: Yy/aqar Siddhe




|Question No : 40 of 52 Marks: 1 (Budgeted Time 1 Min) (=]

-~

In Programmable Interrupt Controller, which one of the following ports 1s referred as mterrupt mask register?

Atmuor (XN W ioct yoww cob ot aption) VuAnswers.com

)
p YNade by: Y/aqar Siddhe
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